
1. Why did Stresemann need to improve relations with 

foreign countries?

To build confidence in the Weimar Republic and restore 

national pride.

2. Which countries were part of the Locarno Pact (1925)?

Germany, Britain, Italy, France & Belgium

3. What did the Locarno Pact (1925) decide?

It confirmed some of the terms of the Treaty of 

Versailles and allowed Germany to apply to become a 

member of the League of Nations

4. Why was the Locarno Pact (1925) accepted by many in 

Germany?

Germany had an equal say in the outcome.

5. What was the League of Nations?

A group of countries which met to discuss world 

problems and to prevent wars.

6. Which two countries, importantly, did not immediately 

join the League of Nations?

Germany and the USA

7. Why did Germany want to join the League of Nations?

It would give them equality with other countries in 

Europe.

8. What did the Kellogg-Briand Pact agree?

It promised the countries would not use war to achieve 

their aims.

9. How far did support for the extreme parties in Germany 

fall in the latter half of the 1920s?

From 40% to 28%

10. Who replaced Ebert as President? Why was he popular?

He was a moderate and had been the Field Marshall in 

the Kaiser’s army.
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